

REŠITVE

1.

$$(322 : 7) + (234 + 132) = 46 + 366 = 412$$

2.

$$480 \times 4 = 1920$$

3.

$$34 \times 5 = 170 \text{ kg}$$

4.

$$(465 - 298) + (157 \times 3) = 167 + 471 = 638$$

5.

a) $130 : 2 = 65$

b) Da, ker je smučarjev 65, v koči pa je samo 57 stolov.

6.

$$398 : 2 = 199 \quad \text{P: } 199 \times 2 = 398$$

$$360 : 7 = 51, \text{ ost. } 3 \quad \text{P: } 51 \times 7 + 3 = 357 + 3 = 360$$

7.

a) $432 : 8 = 54, 0 \text{ ost.}$

b) $432 : 9 = 48, 0 \text{ ost.}$

8.

$$1204 : 7 = 172, 0 \text{ ost.}$$

9.

$$486 : 20 \rightarrow 480 : 20 = 24$$

+ 6 učencev v naslednji vrsti

10.

a) $1845 \text{ €} : 7 = 263, 4 \text{ ost.}$

Vsak vnuk je dobil 263 €.

b) Da, ostali so mu 4 €.

11. $4560 : 20 = 228, 0 \text{ ost.}$

12.

$$240 : 40 = 6$$

13.

$$576 : 4 = 144, 0 \text{ ost.}$$

14.

$$870 : 5 = 174, 0 \text{ ost.}$$

$$17 : 2 = \underline{8}, \text{ ost. } \underline{1}, \text{ ker je } \underline{2} \times 8 + 1 = 17 \underline{\quad}$$

$$58 : 8 = \underline{7}, \text{ ost. } \underline{2}, \text{ ker je } \underline{7} \times 8 + 2 = 58 \underline{\quad}$$

$$65 : 9 = \underline{7}, \text{ ost. } \underline{2}, \text{ ker je } \underline{7} \times 9 + 2 = 65 \underline{\quad}$$

$$72 : 9 = \underline{8}, \text{ ost. } \underline{0}, \text{ ker je } \underline{8} \times 9 + 0 = 72 \underline{\quad}$$

$$0 : 4 = \underline{0}, \text{ ost. } \underline{0}, \text{ ker je } \underline{4} \times 0 + 0 = 0 \underline{\quad}$$

$$19 : 3 = \underline{6}, \text{ ost. } \underline{1}, \text{ ker je } \underline{6} \times 3 + 1 = 19 \underline{\quad}$$

$$23 : 5 = \underline{4}, \text{ ost. } \underline{3}, \text{ ker je } \underline{4} \times 5 + 3 = 23 \underline{\quad}$$

15.

$$660 : 60 = 11 \text{ h}$$

16.

$$1250 : 50 = 25, 0 \text{ ost.}$$

17.

$$72 : 8 = 9$$

18.

$$5 \times 3 = 15$$

$$7 \times 6 = 42$$

$$6 \times 4 = 24$$

$$15 + 42 + 24 + 8 = 89$$